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J-310
B.Com. (Part-II) (Old Course)
Examination, 2021
ACCOUNTING
Group - |
Paper - I
(Cost Accounting)
Time Allowed : Three Hours
Maximum Marks : 75

Minimum Pass Marks : 25

T U el & IR AUl TS THE A TH YT
T AFEE g a9 T & 3id WA El
Attempt all the five questions. One question from
each unit is compulsory. All questions carry equal
marks.
$oR-1 / UNIT-I

AN oGl ¥ U T GHEd ¢ P 39 av 3R
s @ fogger SR 15

PITIOI

(2)

What are cost accounts? Discuss their
advantages and limitations.

3@t OR
fr=foRea g@emi & siva g fafr & smeaR w

it Il &1 eaied ditord -

JqE T @ EGARCI xR (3.)
2 TRt 2019 150 40 p.u.
17 a1 2019 200 60 p.u.
24 AR 2019 75 80 p.u.
g it & SHIST
4 SHERT 2019 100
20 AR 2019 150
25 AT 2019 175




(3)

From the following

information value the

materials by average price method :

Material Received Units Rate (Rs.)

2 January 2019 150 40 p.u.

17 January 2019 200 60 p.u.

24 January 2019 75 80 p.u.
Material Issued Units

4 January 2019 100

20 January 2019 150

25 January 2019 175
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(4)

What are the essential features of a good wages
payment system ? Explain.
3rraT OR

iR Romes diee & safd te e &
RSG B T DR, T a8 BE PN 225
wipd Ul & I W 180 HUST H QT &% ol &l
D! Ui "0 R 5 . & 3R I HAorgdl & ARIRD
15 3. 9fd & (12 oo & s f&o) & R @ wEmg

o o e 2

() T yenfst T, e & a9F 50%
(i) e AT
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Q. 3.
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What earning will a workman receive under the
following incentive schemes if he execute a piece
of work in 180 hours as against 225 hours
allowed to him his hourly rate is Rs. 5 and he
gets a dearness allowance of Rs. 15 per day of
12 hours works in addition to his wages :

(i) Halsey premium plan, 50% bonus to workers
(i) Rowan plan and

(ili) Emerson's plan

gps-1II1 / UNIT-III

TS MpoReX BT oNEl ¥ 2018 & o
forifed yalfa gar 2 : 15
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(6)
UM @ TG A 7,00,000 .
yael AR 5,40,000 3.
PREMT  IURETY 1,62,000 .
qH g 1,12,160 .

BREFET G, A6 B P AN, T&
X ¥ BREM @i B Uierd dol BREHT
AaMa ¥ G I d e SIige] A Ul
Mporex & o 7 g FeiRa s o
FAM: 720 B, AREN W GAT 600 B. HolGH W
T BN € dU HA AN W 15% o 3ot &
6 ? ffdar g 3w dREMT JuReET @
FAE ARG W 3R S|
The Accounts of Balaji Refrigerators Company

show for 2018 the following :



(7)

Materials used Rs. 7,00,000
Direct wages Rs. 5,40,000
Works overhead Rs. 1,62,000
General expenses Rs. 1,12,160

Show that work cost, the total cost of

manufacture, the percentage of works overhead

cost to the direct wages and the percentage of

general expenses to works cost.

What price should the company quote for a

Refrigerator which it is estimated will require on

expenditure of Rs. 720 in materials and Rs. 600

in wages and to make a profit of 15% on the total

cost? The tender is based on the above

percentages of works on cost and office on cost.

PITIOI

Q. 4.
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31grar OR
3@ Tl FT & ? IE B S AT § P Bl
FHP! BT TAN IR gE 9 @I I TP Y alford |
What is contract account ? How is it prepared ?
Give a specimen of such an account using
imaginary figures.
gprR-IV / UNIT-IV
yura fofics wama wigsanstt gR1 MG el @
Jare 3R fawa = €1 &7 ufsamsi & 3k @

fr=ifa €1 ¥ A @ar 2 15
foa=or ufpar A | ufear B | wfssar C

3TN wfeham o1

EaRa 66§% 60% —

fawa &g wosR

TR B gxiaRa 33%% 40% 100%
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JA® Uihdr H P AR BT 4% < 3R 6% IBR

8 o 8, 5 ufear A # 30 B. ufdes, ufpar B

# 50 @. ufdess aur ufsar C # 60 ©. wited &

famar g1 = fgaRor s9ar 2018 & Hafed &

feraRoT ufsear A | wissar B | wfspar C
Ygh Sl A
(et #) 1,400 160 1,260
Pwa 9k o ([wh #H) [ 100 160 70

ol (Tuat #) 50,000 | 30,000 25,000

3T I ([t ) 1,520 1,400 3,980

TS UihaT I T e @Id @i ge wihan

AT IR D

PITIOI

(10)

Prabhat Limited manufactures and sales chemicals

produced by consecutive process the production

of these process are dealt with as under :

Particular Process A | Process B |Process C

Transferred to next
2 o,

process 66 3 % 60% —

Transferred to

1
warehouse 335% 40% 100%
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In each process 4% of total weight is lost and 6%

is scrapped, which from process A realises Rs.

30 per tonne, from process B Rs. 50 per tonne



(11)

and from process C Rs. 60 per tonne. The

following particulars relate to January 2018 :

Particulars Process A | Process B | Process C

Raw materials

used (in tonne) 1,400 160 1,260

Price per tonne

(Rupees) 100 160 70

Wages (Rupees) 50,000 30,000 25,000

Other expenses

(Rupees) 1,520 1,400 3,980

Prepare process account showing process cost

and cost per tonne of each process.

PITIOI

Q. 5.
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3gar OR

IRaed  @Nd o] W U dfed  fewon

faRear

Write a short note on operating costing.

gBis-V / UNIT-V

frefoied q@emsi & 3R R foua o’ &

AR H Fd Do : 15

(1) oW oRdl & 3FER aY 75,000 3.

(2) BREMI IR @R oE |

e @ o ™ 7,000 3.
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(3) BT URTT AN @&l § BH

g fer

(4) 3T #oT & o T

(5) fafm w® oy U

(6) db &T=T (UT)

(7) 3R & T yae=

(8) T gwad # faRes &g«

formar e

5,000 %.

500 .

750 .

450 .

10,000 <.

2,500 .

On the basis of following information find out

profit as per financial accounts :

PITIOI
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(1)

(2)

)

(4)

®)

(6)

(7)

(8)

(14)

Profit as per cost accounts

Over recovery of factory

overhead in cost accounts

Under recovery of office

overhead in cost accounts

Reserve for Bad Debts

Profit received in investment

Bank interest (received)

Provision for income tax

Excess depreciation written

in financial books

Rs.

Rs.

Rs.

Rs.

Rs.

Rs.

Rs.

Rs.

75,000

7,000

5,000

500

750

450

10,000

2,500



(15)

3gar OR

wrfaeee forg aar & ? g oM &Y @ S @ 2

What is Break Even Point ? How it is calculated ?
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